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QUESTION 1

You have a RAID-DP aggregate with 42x 4 TB NL-SAS drives. The aggregate contains 3x RAID groups of 14 drives
each (12 data + 2 parity), for a total of 36 data and 6 parity drives. You decide to convert the aggregate to RAID-TEC for
higher resiliency.

How many spare 4 TB drives are needed to complete the conversion?

A2

B.1

C.3

D.4

Correct Answer: C

QUESTION 2

You use the Automated Workload Analyzer (AWA) to identify workloads that would benefit from which feature?
A. Flash Pool aggregates

B. Advances Disk Partitioning

C. storage efficiency

D. FabricPool capacity tier

Correct Answer: A

QUESTION 3

Click the Exhibit button.
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- 11

alphanal::> wolume snapshot autodelete show —-volume pdata

Vserver; Volume tion Name Ooption Value

Enabled fﬁlse
Commitment ¢try
Trigger volume
Target Free Space 20%
Delete Order oldest first
Defer Delete user created

Defer Delete Prefix (not specified)
Destroy List none

A volume is only 25% full; however, the snapshot reserve is almost full. Referring to the exhibit, what occurs after the
volume\\'s snapshot reserve is full?

A. The creation of new Snapshot copies fails.

B. User-created Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free
space.

C. Snapshot copies start consuming the volume\\'s free space.
D. Scheduled Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free space.

Correct Answer: A

QUESTION 4

When a storage QoS policy is configured, which two metrics are configured with a maximum limit? (Choose two.)
A. TOPS

B. latency

C. MBps

D. concurrent connections

Correct Answer: BD

QUESTION 5
Which three name services are supported with NFS? (Choose three.)
A. External NIS domains (NIS)

B. External LDAP domains (LDAP)
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C. NetBIOS
D. WINS
E. Local Users (file)

Correct Answer: ABE
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